Dilsen-Stokkem *** BEAU BRIDGE CLUB *** BBC-COMPETITIE 2019 *** 4 giften per ronde *** NZ OW| gift 1 NZ OW gift 2 NZ ow gift 3 NZ ow gift 4 NZ ow
1 Agten Guy-Terwingen Guido 2 Douce Rik-Gielen Theo 1 2 3 11 150 N2N+1 1 13 -200 z6S-2 14 0 500 W5RI- 9 5 200 OINI-
3 Goyens Chris-Van Hoof Marc 4 Schoups Guy-Smith Stuart 15 16| 9 5 170 st+2‘ 5 9 -100 z4s-f 12 2 170 23H+‘1 0 14 -100 st-‘
5 Hendrikx Nicole-Vanstreels Frans 6 Sliepen Arnold-Volders Omer 10 11 0 14 140 N1$+E 9 5 620 z4S= 8 110 ZZK+£ 4 10 170 NZS+£
7 Op "t Eijnde Thomas-Hubrechts Stefan 8 Latour Jean-Van de Vloed Johan - 9 5 170 le+3‘ 14 0 680 z4S+2 8 110 ZlH+f 4 10 170 NZS+£
9 Nuyts Frida-Postelmans Eliane 10 Gielen Jacky-Luysmans Jef \
11 Dieier Wolfgang-Lampole Christiane 12 CauwenberghyFreZdy—Eertmans Paul 3 12 o 5 170 NZS+2\ ° > 620 zas= 10 4 140 z3H= o 5 200 NZS+%
13 Vandeweerd Geert-Strijckers Jean 14 Vandenbroek Theo-Dirickx Anny 136 3 11 150 NZNﬁl 5 9 -100 248_% 2 12 -50 z4H-1 14 500 01Nﬂ
15 Mesotten Louis-Palmans Jaak 16 Engelen Eddy-Parthoens Georges 9 14 14 0 200 N15+f 122 650 Z4Sﬁl 6 8 110 Z2H= 122 230 N3Sﬁ
8 9 5 170 NZS+2‘ 1 13 -200 Z4Sj2 0 14 -110 WSR; 4 10 170 NZS+2
NZ OW| gift 5 NZ OW gift 6 NZ Ow gift 7 NZ ow gift 8 NZ Ow NZ OW| gift 9 NZ OwW gift 10 NZ oW gift 11 NZ oW gift 12 NZ oW
3 4 7 7 -460 O3N+2 13 1 100 W4H-1 1 13 -100 N3N-1 12 2 150 N3K+2 5 6 8 460 Z3N+2 13 1 300 w4s-3 14 0 460 Z3N+2 7 630 N3N+1
12 15 7 7 -460 W3N+£ 13 1 100 W4HJl 11 3 140 NSHJ 7 7 110 Zz2S= 14 1 12 2 490 ZSN+§ 1 13 -140 WZSJl 5 9 400 N3N= 7 630 N3N+£
16 13 7 7 -460 03N+2‘ 6 8 -620 04H= 14 0 180 NZNJZ 14 0 200 w4H-4 8 15 14 0 520 N3N+h 8 6 110 Z3R= 1 13 -50 Z3N-1 7 7 630 N3N+f
9 7 7 -460 O4N+# 0 14 -630 O3N+1 1 13 -100 ZSN{l 4 10 100 W4H—% 16 11 6 8 460 23N+2: 10 200 W4S—% 10 4 430 N3N+# 13 1 660 NSN{
5 14 7 7 -460 O3N+2 6 8 -620 W4H= 11 3 140 N3H= 1 13 -100 z2S-2 2 0 14 -50 Z6N-1 1 13 -140 W3S= 10 4 430 Z3N+1 1 13 600 N3N=
8 7 7 -460 03N+2‘ 6 8 -620 04H= 10 100 WZS—f 7 7 110 z2S= 10 6 8 460 23N+2‘ 6 8 100 OSH—f 5 9 400 Z3N= 13 1 660 NSNJ
11 7 7 -460 03N+2‘ 6 8 -620 04H= 120 N2N= 10 140 72S+1 13 4 6 8 460 23N+2‘ 13 1 300 W4SJ3 1 13 -50 N3N-1 1 13 600 NSNJ
7 10 7 7 -460 03N+21 6 8 -620 04H= 120 Z2N= 1 13 -100 2384—1 9 12 6 8 460 23N+21 4 10 -110 w2Ss= 10 4 430 N3N+£ 7 7 630 N3N+£
NZ Ow| gift 13 NZ OW gift 14 NZ oW gift 15 NZ oW gift 16 NZ oW NZ Ow| gift 17 NZ OW gift 18 NZ oW gift 19 NZ oW gift 20 NZ oW
2 12 -200 Z3R-2 2 12 -450 wW4S+1 O 14 -800 z6S!- 1 13 -100 N4H-2 9 10 14 0 170 N2S+2 9 5 50 W4H-1 9 5 1010 Z6H+1 12 2 100 06S-
11 3 620 Z4H; 11 3 100 04812 10 -200 ZSS!Jl 7 7 -50 N2H—f 11 3 150 OlHJ3 3 11 -420 W4H; 2 12 510 ZSHJZ 14 0 300 06NJ
10 13 7 -100 N4S—f 2 12 -450 O4SJ1 8 6 620 z4S= 13 140 NSHJ 12 1 13 -110 OSK; 3 11 -420 O4H; 9 5 1010 Z6H+f 0 14 -720 WSNJ
15 4 12 -200 N4S!} 6 8 -420 04S= 8 6 620 z4S= 13 140 NSH% 11 11 3 150 OSK{3 9 5 50 W4H—f 2 12 510 Z4H{3 10 4 -200 OZS+%
9 16 14 0 630 Z3N+1 11 3 100 04s-2 13 1 790 z4S'= 7 -50 N4H-1 15 14 6 100 O1IN-2 6 8 -400 W3N= 2 12 510 z4H+3 8 6 -260 02S+5
12 7 7 -100 N4S—f 2 12 -450 O4SJ1 13 1 790 z4S'= 7 -50 N4H—f 16 8 6 140 N1$+2‘ 13 1 150 W3N-3 9 5 1010 Z6H+f 2 12 -690 WSNJ
1 6 11 3 620 N4S; 11 3 100 048—5 6 620 z4S= 1 13 -100 N4H—E 1 13 -110 OSK; 0 14 -450 W4HJ1 14 0 1020 N6NJ1 4 10 -680 O4S+£
11 14 2 12 -200 N4S—é 11 3 100 04842 2 12 -650 05H{= 7 7 -50 N2H—£ 13 4 10 -100 ZSH!Jl 13 1 150 W3N43 9 5 1010 Z6H+£ 6 8 -620 O4S=‘
NZ OW| gift 21 NZ OW gift 22 NZ oW gift 23 NZ oW gift 24 NZ OW NZ Ow| gift 25 NZ OW gift 26 NZ OW gift 27 NZ oW gift 28 NZ oW
11 12 11 3 140 Z3H= 1 13 -50 N4S-1 4 10 -180 O2N+2 4 10 -50 Z2R-1 13 14 5 9 -50 N3N-1 11 3 100 W4H-1 10 4 490 N3N+3 12 2 680 z4S+
6 11 3 140 ZSH; 9 5 420 N4S= 13 1 -120 OZN; 0 14 -120 OZN; 5 9 -50 ZZS—f 11 3 100 OSHJl 10 4 490 N3N+§ 13 -100 NSSJ
14 11 3 140 ZZHJl 4 10 170 Z3S+1 6 -150 02N+f 11 3 100 OZN—E 5 5 9 -50 N3N—f 11 3 100 WSHJl 4 10 420 N4H= 8 650 Z5S=
13 10 50 OSS—f 9 5 420 N4H= 13 -600 OSN; 11 3 100 WZSJZ 10 5 9 -50 N3N—f 4 10 -140 W3H= 2 12 240 Z2N+4 6 8 650 Z5S=
9 12 -100 ZSH{l 14 0 450 N4S+1 13 -600 OSN% 14 0 110 ZZR{l 11 4 5 9 -50 N3N—# 11 3 100 O4H71 0 14 -50 NSH{l 6 8 650 Z4S+%
15 10 8 100 028—2‘ 9 5 420 N4S= 6 -150 02N+% 7 7 50 WZS—% 7 12 12 2 120 NZNi 0 14 -300 23873 10 4 490 N3N+% 12 2 680 ZSSﬁ
16 14 -130 O3K+1 9 5 420 N4S= 13 1 -120 O2N= 2 12 -100 N2H-2 15 6 5 9 -50 N3N-1 4 10 -140 W2H+1 10 4 490 Z3N+3 1 13 -100 z4S-
4 11 3 140 ZSH% 1 13 -50 N4Sjl 8 6 -150 02N+£ 7 7 50 OlN—i 3 16 14 0 430 NSNQl 4 10 -140 W2H+£ 10 4 490 N3N+§ 12 2 680 N4SQ




